EARAROBREBRT —5 XN—ZXBISH—F

202268598 (A) 6EREE3H

IR ZHECCRTF1—VE (PR

PSR

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | 5 o000 =

[AE%] 1% :900,000Hm  27%&:297,000 M  37%&:180,000 .~ 43&:117,000 @ 5 7&:81,000 M

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= BB :09. -1-1- . - INEE (PR)
117l g | F530- i o4 et 2(0_9)3 1-1-1-2 | 38.6 1 (4+713) )
RFYFPITATIUA B:F L5330 Fh/T7—L
Y o aw MAKNE :09. FaFaE . - HBHT (PR)
2 6| IVYAN=I Yk "3 ~53.0 2(,(\)3-§5 A ’ ff;) %ﬁﬁ%%
RiRSAYF B:7Yz5T FrIEFTIRAT7—LA
</~ 45 | NOEEES— 2:11.1 7-7-5-5 |39.2| - 6 | 463 | KMEE— (PR)
32| ¥ARILIVAYE 57.0 ®) W | @ wsTLyrIST 5747
R:O—IRA IR B:RAXFv—L EvIUy RI7—LA
o . A3 _Eahis : -6-6- - Bty (BoE)
4055 | RU—LZRA—TW ®7 5% Al | B e S I =2
RIZTUAVTART BUNNUN—RT7 A HK BEX
w4 3 o4 | SHEKX 2:11.6 2-2-2-3 | 40.3| - 5 | 56 |MTTEA (BEE)
5(8/9|OvF—TLAD 5.0 212 vg | ) Jr—2REYaY
Rir—=775030 B:RVDAVITIVR %S
\'3 o4 | SHER 2:11.7 8-8-8-6 |39.4| — 4 474 | EREHFEE (hR)
6177 NLDR *53.0 (/2) 8 | R AFPRE—ILT VTR
RiV—5—YwF B:OL VLS ;H Bz
o ° <, KiHE 112, -4-4- . - = (PR)
i - BENA=E 27 it o4 | KRR 57, T IR PG [hen
R:AN/UFP—R B:AYShDYID Hyyo—tv
S == ) 7 | ETE 2:12.2 9-9-9-9 |39.6| - 7 | 5 |#EPOE (&R
8|8[10 FME—TS5YT $55.0 P 5 |BmEx
Rid T RD—ILEY B:E—F/SU—R #HET7—L4
N ~ BAMES 2. -10-10- . - MTEA (BEHE)
9 4| e—O%y o7 *5610 2 (132) 9 |10-10-10-10| 39.7 10 (5+170) 7:%‘%—
RIEVFOVY By /XT= eebibives )
~)3 8 5 | FHPIIE 2:13.0 5-5-7-8 | 40.8| — 9 438 | HFLE— (BEE)
10011 | YYaoLYAv 55.0 @) (o) |ABEEF
RiFVYrY /FEF BAR—LYARTI— ‘RS
@ 11— —BERIEI
13—7F— 8,9,6,3,1,5,2,7,10,4
20—7+— 8,9,6,3,1,5,2,7,10,4
Ia=7r= 8,9,6,3,2,5,1,7,10,4
410—F+— 6,8,9,5,2,7,3,1,10,4
0 ILRE
BB 8 1908 | | 914K 6-8 330 & 6-7 510 3ER 2-6-8 2,880M
BB 8 1004 2-8 5904 o 18 6-8 7604 3Es 8-6-2 8,840M
6 1509 2-6 950M oS- 1 8-6 1,390H4
2 220

ABIC OV TRUTEREERRODDZE. THRIIZEL.



